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0+2y=120rx+2(0) =12 (M1)
(0. 6) (accept x=0, y =46} (A
Qi12.0) (accept x=12, =0} (A1} (C3)
Notes: Award (MI) for setting either value fo zero.
Missing coardinate brackets receive (40) the first time this
occirs. Award (A0)A TN for P(0, 12) and O(6, 0).
Y+2x—3)=12 (M1)
(6,3) (acceptx=6,y=3) (AIMAL) (C3)
Nate: (1) for each correct coordinate
Missing coordinate brackets receive (A0)(A 1) if this is the first
time it occias.
6]
Gradient of [, = 0-(2) (M1}
- 5-0
=2 (A1)
3
Gradient of /, = _T} (A1) (C3)
y= _?}r— 7 (A1XAD
y=—Sx+14
Sy+2y—14=0 (A1}A1)A1) (C35)
8]
L has gradient 2 and L, has gradient —% . (A1NAL (C2)
Note: Award (AO)A Lt if the order of the gradients is reversed
or both sigrns are wrong or both are reciprocals af the correct
arEWer.
L, is drawn incorrectly. (A2) (C2)
The product of the gradients is 2 = _%=_IE =—1. (M1IMWALY (C2)
Note: Award (MI) for looking at product of gradients,
{41) for comparing something to —1.
The drawing should show a straight line passing through

x and y intercepts at (4, 0) and (0, 1) respectively. (ALMAL (C2)
Nate: Award (41) for each intercept. If these are wrong but

gradiernt is — é then (41). If correct line is very poorly drawn

then (41).
[€]



Equation Diagram number
y=c 2 (AZ)
y=-—x+c 3 (AZ)
y=3x+c 4 (A2)
y=%x+c 1 A2/ (c8)
[8]
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Notes: Awerd [¥: mark] for each correct bold entry amd rownd
down to a maximum of [2 marks].
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Notes: Aweard (M1) for both axes correctly labelled and with
suitable scales.

Award [¥: mark] for each correct point and rowmd up to a
maximum of [2 marks].

() C=10N+30 (A1)
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(b)

()

(d)

(i}  “The local hotel will charge £500 plus half of five (or two
and a half) times the number of guests™
(or equivalent statemert). (A2}
Note: Award (A1)(40) if partly correct.

(i)

Nlo|2]40 su|

™
th

00 | 550 | 600 | 700 | (A2)
Neote: Award [¥: mark] for ench correct bold ertry, and rowd
up to a meamum af (2 maris].

(iii} On same graph as for part (a) (ii). (M2)
Naote: Award [%: marij for each poivt correctly plotted, and
rownd up to a maxamum of [2 maris].

Explanations abound: Award marks only for any correct explanation

arising from candidate’s own graph in parts (a) (i) and (b) (ii). (R2)
Notes: Award (R1) for each comrect poirt given. Meadamum [2
marfs].

1)  £900 (MI)AL)

(i} 60 guests (M1} AL

(iii) £145.00 (M1YAT)

Notes: For parts (d) (i) to (d) (i), follow through with
candidate’s own graphs.

Answers given here are obtained by calculation emd should
serve only as a guide.
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